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QUESTION 1

Which one of the following transformations may be unconnected In a valid mapping? (choose one) 

A. Lookup, stored procedure, external procedure 

B. Lookup, stored procedure, Java 

C. Java, lookup, transaction control 

D. Transaction control, Java, lookup 

Correct Answer: A 

 

QUESTION 2

Which of the following is a reusable task available in workflow manager? 

A. Decision 

B. Assignment 

C. Control 

D. Command 

Correct Answer: B 

 

QUESTION 3

What is a pipeline lookup transformation? 

A. A lookup created using a pipeline which contains a target 

B. A lookup cache split over pipelines of a partitioned mapping 

C. A lookup associated with the Source Qualifier or an Application source such as JMS or SAP 

D. A pipeline lookup does not exist 

Correct Answer: C 

 

QUESTION 4

Refering to the Lookup transformation, which statement is correct and true? 

A. The lookup condition defines how much memory each of the two caches will consume 

B. The lookup condition defines the fields that are used in the search of the data 
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C. The lookup condition is limited to only the equal operator 

D. The lookup condition is designated in the ports tab interface via the "L" check box 

Correct Answer: B 

 

QUESTION 5

Referring to the SQL Transformation: which statements is correct and true. 

A. The SQL transformation in script mode can execute sql scripts containing individual select statements that return
more than one record to the pipeline 

B. The SQL transformation in query mode can execute multiple SQL statements where components of the SQL
Statement can vary from one execution to the next 

C. In PowerCenter 9 the SQL transformation, in query mode, can only be active 

D. When you bind a parameter to an input port, you identify the port by name in the query. The SQL Editor encloses the
name in exclamation question marks (!) 

Correct Answer: C 
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